15-2 VA FREBUEE - BRiE /30
@ 3 x 4 = @ (-6) x (-2 =
® 5 x (1) = @ (-8 x (9 =
® (-100 x 3 = ® (4 x (-12) =
@ 11 x (b)) = (-15) x 2 =
©® (-9 x (6) = 7 x (13) =
o (-14) x (4 = @ (-2) x 16 =
® (200 x (3) = 18 x (-11) =
® (-25) x (-2) = (-12) =+ 3 =
@ 20 + (5) = (-18) + (-6) =
(-21) =+ 7 = 36 + (9 =
@ (-45) =+ (-15) = @ (-28) + 4 =
@ 5 + (-8 = (-32) + (4 =
® (-63) =+ 9 = 72 + (12) =
@ (-100) + (-25) = (-81) + 9 =
90 + (-10) = (-120) =+ (-6) =

(HE2~—X]




1%-2 VA FREEUEE - BRIE(EEE) /30
@ (3) x 4 = -12 @ (-6) x (2 = 12
® 5 x (1) = -35 @ (-8 x (9 = 72
® (k100 x 3 = -30 ® (-4 x (12) = 48
@ 11 x (5 = -55 ® (-15) x 2 = -30
@ (99 x (6) = 54 7 x (-13) = -91
@ (-14) x (4 = 5 @ (-2) x 16 = -32
@ (200 x (3) = 60 @ 18 x (-11) = -191
® (-25) x (-2) = 50 12 + 3 = -4
@ 20 + (5 = -4 ® (-18) =+ (6) = 3
@ (21 -~ 7 = -3 @ 36 + (99 = -4
@ (-45) + (-15) = 3 @ (28 + 4 = -7
@ 56 + (8 = -7 @® (32 + (4 = 38
® (63 + 9 = -1 ® 72 <+ (120 = -6
@ (-100) + (-25) = 4 -8) + 9 = -9
@ 9 =+ (100 = -9 @ (-120)0 + (-6) = 20

[StEAR—R]




